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4.3 Practice with Trigonometry


Block 


Date 




New Types of Problems 

1. Find the exact values of the six trig functions of 
[image: image1.wmf]q

 in standard position at the point (3, 4).





a) Use the Pythagorean theorem to find the radius 







b) Use 
                  to find the values of the six trig functions.

2. Find the exact values of the six trig functions in standard position at the point (-5, 12).


3. If cos
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 = 
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1

 and 
[image: image4.wmf]q

 lies in quadrant I, find the exact values of the six trig functions. 


4. If tan 
[image: image5.wmf]q

 = 
[image: image6.wmf]4

3

and 
[image: image7.wmf]q

 lies in quadrant III, find the exact values of the six trig functions. 


Find the values of 
[image: image8.wmf]q

 in both degrees and radians given the following information.

5. sin 
[image: image9.wmf]q

 = 
[image: image10.wmf]2

3






6. cot 
[image: image11.wmf]q

 = -1

7. csc 
[image: image12.wmf]q

 = 1 





8. cos 
[image: image13.wmf]q

 = 
[image: image14.wmf]2

1


Solve for the missing sides, using the information provided below.

9. 






10. 
[image: image15.wmf]q

 = 45o, y = 10


On your Own

11. Find the exact values of the six trig functions in standard position at the point (8,15). 


12. Find the exact values of the six trig functions in standard position at the point (-3, -4).  


13. If csc 
[image: image16.wmf]q

 = -5 and 
[image: image17.wmf]q

 lies in quadrant IV, find the exact values of the six trig functions. 


14. If sin
[image: image18.wmf]q

 = 
[image: image19.wmf]4

3

 and 
[image: image20.wmf]q

 lies in quadrant II, find the exact values of the six trig functions. 


Find the values of 
[image: image21.wmf]q

 in both degrees and radians given the following information.

15.  sec 
[image: image22.wmf]q

 = 2 




16. tan
[image: image23.wmf]q

 = 1  

Solve for the missing sides, using the information provided below.

17. 






18. 
[image: image24.wmf]q

 = 60o, r = 16
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